Intro Review

1. Write the name a) MgBr2   b) Pb(NO3)2   c) XeF4
2. Write the formula   a) yttrium IV nitrate  b) calcium hydroxide  c) dibromine trioxide  
3. How many atoms?  a) ammonium sulfate  b) magnesium nitrate c) calcium phosphide
4. How many oxygen atoms? a) barium sulfate b) nickel III nitrate 

c) trisulfur pentoxide

5. Complete and balance

a) nitric acid + copper II chloride

b) ammonium phosphide + lithium phosphate

c) hydrochloric acid + barium bromide

d) aluminum oxide + rubidium telluride

6. Convert the following.


a) 1.159 kg to g


b) 4.3 m to cm


c) 12 mm to m

7. Find the charge on X.  Include + or – sign.

a) XCl4

b) X2S2

c) Mg3X2

8. How many significant figures?   a)  0.002020   b) 2100.0   c) 4010

9. Perform the calculation and display the answer with 3 sig figs
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10. Perform the calculation and display answer with correct number of sig figs


a) 
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b) 12.1 + 0.45 + 1.421

11. A student takes the following measurements for a cylinder- radius 1.9 cm, length 4 cm, and mass 164 g.  A) What value should he get for density? B) If the real answer is 3.2 g/ml, find the percent error.
12. Find the length of an Aluminum rectangle whose mass is 400 g, density is 2.7 g/ml, length is 4 cm and width is 6 cm.
13. 1.6 L of solution is made from oil, vinegar, and water.  The solution is 10 % oil acid by volume, and 40% water by volume.  The density of vinegar is 1.07 g/ml and the density of oil is 0.94 g/ml.  Find


a) density of the solution


b) % oil by mass
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